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[ General Knowledge }

gRfRufae eRHor @, _ dielf & @R F
faufea gies T T F FETER verd (uRuPar a@
uga?mﬁﬁweh % fmtor 3t uitear & deffa
FIATE]

From an ecological point of view, refers to the
process of formation of a dark coloured amorphous
substance (organic matter that has reached maturity)
decomposed from plant remains.

f&Te leaching (b) TH@TThumification
QISR mineralisation (d) TIRIDHR stratification
gard TSy YR & fra T A fRua 82

In which state in India is Chandratal wetland located?

T 3R R Jammu (b) TRHEA WS Himachal
and Kashmir Pradesh

3TRIES Uttarakhand (d) I TG Uttar Pradesh

. Frafafea & @ e gaelRm fidtr 91 ywfva 9t

TP E?

Who among the following has composed the Prashasti of
Pulakeshin 11?

Bﬁ@Tﬂ Harisena (b) PTG Kalidasa
dUIHE Banabhatta (d) DI Ravikirti

YRd # fafta uoR 3t Ol &1 Idre f&ar war 8|
frafifEd 4 4 19 @ B ¥ arelt vad 82

Various types of crops are produced in India. Which of the
following crops are fiber ?

T AR R Gramand tur ~ (b) HUTI 3R JE Cotton and

jute
W@?WSugarcane (d) W\’ﬁ?ﬁgmce and
and tea wheat

H3ehla & erad IR & IR, TH-TREif g &1
wmwmmmﬁﬁmmm
T UT?

According to Mendeleev’s periodic table, what was the
atomic mass of Eka-aluminium which was later replaced by
Gallium?

95 (b) 83
68 (d) 50

fFrafafaa & @ #1991 yRda IR 79 9 uEl $
Tl & w0 § Ig¥ W AR T &1 SuaiT eear g2

Which of the following Indian classical dance forms uses
various colours on the face to symbolize the characters?

3Nfe odissi (b) HYDBC! Kathakali
UXATCIH Bharatanatyam  (d) ﬂ%’?ﬂ@@ﬁ Mobhiniattam

frrafafed 7 Q o9 91 eve # T8 82

Which of the following is NOT an indirect tax?
ST Y[eh Excise tax (b) WQEWW Goods and

Services Tax

?ﬁtﬂw Customs duty (d) HURI B Wealth tax
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faggaemwaisizges_ Rl

The Sl unit of electric charge is a

Gl Coulomb (b) dIC Watt

<gc Newton (d) V<l Joule

1526 ®, UTUd P dSTS F JaaSt g At

In 1526, the battle of Panipat was fought between

IR 3R AVT I Babur  (b) HHER 3R 3 Akbar and
and Rana Sanga Hemu

Y 3R R WH (d) TR 3R A At
Humayun and Sher Khan Babur and Ibrahim Lodi
T STRTR Avft & fore omyg v w82

The age range for the Youth Boxer category is:
15-16dY 15— 16 years  (b) 19-20 TN 19 — 20 years
17-18 9% 17 - 18 years (d) 13-18TY 13 - 18 years

YR P UGAT o1 gole B YRgd (b aT T 41?2

When was the first Union Budget of India presented?
1947 (b) 1948
1949 (d) 1950

fFrafafeq ¥ A fras saee afar gad fte g2
Which among the following has the highest electron
affinity?

FARM Chlorine (b) TR Fluorine
BITCIIH Helium (d) F Xenon

B dt RO yRa ReR T 1035 F @ A
BT YR T2

Which Report became the basis for
Government of India Act 1935?

enacting the

et fHel GUR Morley (b) TEHA HHH RUE
Minto Reforms Simon Commission Report
T IRIBIS TIor (d) FTHIYDIS 78] None of
Montague Chelmsford these

Declaration

yrd @t Fafaf@a & @ $1-@ 9 ufipht are & =
fread 22

Which of the following rivers of India does not originate
from the Western Ghats?

?‘I'I?ﬁ/ﬂ'flﬂ Tapti/Tapi (b) B Kaveri
PWI Krishna (d) TMeTeR Godavari

gﬂa%a’mﬁ%dﬁﬂfﬁmmmﬁm

What can be maximum interval between two Sessions of
Parliament?

F HEH Three months (b) ?I'RII—Eﬁef Four months
@'Eﬂq—&pﬁ Six months (d) :ﬁrl—ﬁﬁef Nine months

%maﬁaﬂwnﬂaﬁwﬂﬁmsﬁﬁﬂﬁﬂqwanmha

Unemployment and poverty estimates in India are based
on?
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NSSO TR SUHNT (b) €SO TR YU =TT
JJ&IuT NSSO household Jd&fuT 50 household
consumption expenditure consumption expenditure
survey survey

TSI S{TIRT BT TR, (d) Nsso URAR 3 Fdefur
G'C[lﬁ'lTB!Il'C[ﬂﬁ&I'UT NSSO family income survey

Planning Commission’s
household consumption
expenditure survey

WH $US g9 & fore fFAufafaa 9 f5a v &1
IuaN foar Srar 82

Which fibre among the following is used to make rayon

clothing?
Ufde Pectin (b) @Fﬂ?ﬁﬁf Cellulose
(d) Mg Gum

n{mﬁﬁf Mucilage

YRA & WA & 59 srgsde W ug uReeu-1 o1 15

2 5 #13 afe dwe § e 1A & g 1 o & e

g}awmﬂtﬁmmw%a@mwmﬂ
?

Which Article of the Constitution of India envisages that a

person shall NOT be qualified to be chosen to fill up a seat

in the Parliament unless he is a citizen of India?

TG 84 Article 84 (b) SIIEIC 76 Article 76
TG 61 Article 61 (d) SfI=5< 52 Article 52

fafta SExal & fore urit &1 A9+ & g
W%M%ﬁﬁwwmﬁ%ﬁqﬁ%m
ﬁﬁa S AT B T gTS SIS WA R

......... is a hydraulic structure of impervious material
bUI|t across a river to create a reservoir on its upstream side
for impounding water for various purposes.

1Y dam (b) A1 block

SId AT drainage (d) HTS fold

&m'xrg; aa 9 weY @1 genay Fafafaa A @
A fRag?

In which of the following countries is the headquarters of

International Table Tennis Federation situated?

Qﬂéﬁ?f Thailand (b) S Japan

sﬁ'@: England (d) m Switzerland

TF WHd Ao & U # csIR YRd & 999 F81
STHYUT 3R fIBTRI WIS B 1 CSIR BT YU =0 FTR?
CSIR as an autonomous body is the largest research and
development organisation in India. What does CSIR stands
for?

Council of Scientific and (b)
Industrial Research

Council of Space and
Industrial Research

Chamber of States and
Industrial Research

fa<ira af 2023-24 F forw ywarfaa I d grer 59
TP 8:
The proposed fiscal deficit for the Fiscal Year 2023-24 is at:

IHANIIUG D59 (b)) Thd IR IUG D 6.4

Centre of Space and (d)
Industrial Research
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Tfa=Id 6.4 percent of GDP

(d) THd IR IME BT 7
7 percent of GDP

yfa=d 5.9 percent of GDP

Tl TR TG BT 5
gfa=d 4.5 percent of GDP

AP SPiag & gIHR fdaas 2023 [FY THd
BIg-d fraH Siar?

Who won the Wimbledon 2023 men's singles final,
defeating Novak Djokovic?

I TSI Rafael Nadal (b) IR R Roger Federer

PTG AP Carlos ~ (d) SHHMD FATH Dominic
Alcaraz Thiem

Y 2023 A frH FT64 B Mesd Ao yafazor yae=
RGP YT §3M?

Which organization received the 'Golden Peacock'

Environment Management Award in 2023?

BRI T HERO GROUP (b) THIEH TCS
3iq aﬂ.aﬁg: KIEES (d) 3.55- iRy Infosys
Adani Transmission

Limited

wpufe et hud) 3 waean faw 2023 F s
TR IR gal 3R HeT TR YR gal & gewl B

AT RS RI & g s w3 1 21
President Smt Droupadi Murmu has given her approval for

Gallantry awards to members of the Armed Forces
and Central Armed Police Forces on the occasion of
Independence Day 2023.

74 IRAI IR 74 (b) 75 dRATYREHR 75
Gallantry awards Gallantry awards
76 IRAI IR 76 (d) 77 IRATRIBR 77

Gallantry awards

Lt rd & 9 N WY Uh e 2|
‘Seamer’ is a term used in the game of .
gﬁaﬁa Football (b) HEdl Hockey

e Cricket (d) FRaedId Basketball

feu e faeeul # @ Ut U= HT AU B

Select the correct statement from the given options.

TH USR-TY, QDI TH (b)) Th YDHRI-ay, T Bt

W‘st%l Alight-yearis a WEH?T‘&E%I A light-year is

unit of distance a unit of time

I, AR P UH SHs 8| (d) URG, T I T DTS

Ajoule is a unit of power | A pascal is a unit of
force

HI T Wetewd ufaad
fParSTaT gl

The Modhera dance festival is organized annually in the
state of

FHIed Karnataka (b) TSI Punjab
ToIRTd Gujarat (d) TS odisha

fFafafaa & 9 53 e ol o Rranfag ok e
T Ao s TRiuTe® & w0 & ST ST 82

Gallantry awards

Is9 H maifora
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Who among the following is known as a pioneering dance
educationist and a prominent Mohiniyattam exponent?

IIT?RﬁW Madhavi (b) RMH @?I:ﬁShagun Butani

Mudgal

TERIG HICTATGRE

Mohanrao Kallianpurkar

SHATY] BIFRABT & BHIRBT TR A UTS o qTelt o
TG URd FT HEaAT 82

What is the outermost layer found in the cell envelope of
the bacterial cell called?

(d) ST H-1d 3 Dr Kanak Rele

‘aﬁaﬂmﬂycocalyx (b) aﬂﬁﬁﬂ%k'_vﬁCell
membrane

ATSHT f3Ieel! Plasma (d) WWCytoplasm

membrane

it Taaar &1 SAfUPR YRT & Ifdu= & foa

3ge A fAfa ?2

The Right to Freedom of Religion is contained within which
Articles of the Constitution of India?

TG 19T TG 22 (b) TG 29 H TG 30
doh Article 19 to Article 22 d Article 29 to Article 30
TG 25 F TG 28 (d) TG 14 H TG 18
doh Article 25 to Article 28 d Article 14 to Article 18

Mar R WA 9 ueh for yeR & Sivre # uTe ST
®

The bird like pheasant and monals are found in which type
of forest?

Sftdreor gofareh a9 (b) IUHICHENT TGEER I
Temperate deciduous Tropical evergreen forest
forest

AT FSTEER T (d) YHSRRRI a4
Temperate evergreen Mediterranean forests
forest

YR & WAy & [ e | 9 3w ¢ i due
T Brw fEd) ar sl § far sreme

Which Article of the Constitution of India mentions that
business in Parliament shall be transacted in Hindi or
English?

3TEG 120 Article 120 (b) 3¢ 121 Article 121
3{TEGE 122 Article 122 (d) SfT=5¢ 119 Article 119
2011 B TTUAET & AR Faite mgua fa
ITAR?

Highest sex ratio according to census 2011 is of which state?
BTRITG Chhattisgarh (b) 3TY TS Andhra Pradesh
FI'&I?Fﬂ_g'Tamil Nadu (d) P Kerala

YR ¥ I Aeq # g arelt T, I garsit &Y
FETHA AT

Hot, dry winds blowing in the Northern plain in India are

known as

IR gdf gaTd North

easterly winds

] Loo

(b) U BaTﬁ Westerlies

(d) R IR Nor westers
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TAS AHT RO SR F1:407 & A1 ol & iR
3R S8R WA aTelt a1y &Y 9T Heard! 8

The amount of air that moves in and out of the lungs, with
each normal inspiration and expiration is called

3{afRAY HHT Residual (b) HE@YU! & vital

volume capacity

ARG A Tidal volume  (d)  SARIT & Tidal capacity

fofesr sA@a | Siish Rranm P sfufaw &
TR YRA ¥ 3mdt?

According to which act did English Education come to India
during the British reign?

1833 P11 AT

Charter Act of 1833

(b) 1835 T 3USh e
g English

Education Act of 1835

YR WBR AT (d) STHIDIS T8I None of
1833 Government of India these
Act 1833

fFrafafaa & @ o9-91 g YA F T § T R TH
I 3 A1 ) | T B I P AT BT quiA
HIATR?

Which one of the following terms describes the practice of
growing two or more crops simultaneously on the same
piece of land?

Td 99Ul Crop rotation  (b)  THTSd BEE Mixed
cropping

3RBIA Intercropping  (d) af3ra @t Mixed farming

frafifEa & & 19 R &) spier aegiu I e
AT 3?

Which of the following separate Asia from the Africa
continent?

I TASHEAL AR (b) WM IR 3R 3RT IR
ol ¥R Bering Strait and Red Sea and Arabian Sea
Red Sea

W TER ST (d) W e 3R AT PR
SIdSH™HY Suez Canal Suez Canal and Red Sea

Berling Strait

gg fAvfg a1 o1 sifaw SifteR frad U & & +1E
faw fadus «= fadas B ar sl

Who has the final authority to decide if a particular Bill is a
Money Bill or not?

Tl'gclﬁ President
T THT & FHTA TS

Chairman of Rajya Sabha

P R TR

What is a bank rate?

TE R P RBA ST (b) a8 < R W b Trgah!

(b) TIHIHT 37E Speaker of
Lok Sabha

(d) fad T3 Finance Minister

W%%m%méﬁ ﬁﬂﬁ%Rateatwhich
EbA[HEUT%(ﬂ%Rate at which banks advance loans to the
the Central bank of a customers

country advances loans to
other banks in the country

Mob. - 01141676717,9312712114

Page 4




SCHOLARS ACADEMY

(©

42.

@
(©

43.

@

©

44.

@
©

45.

@
(©

46.

@
(©

47.

@

(©

48.

TBRPARIF AIUIH (d) TW®RPTRID

Wéﬁ% Rate at which Waﬁwéﬁ% Rate
banks lend among at which banks lend to
themselves money lenders

Imfe Frafafaa 3 A f5a T o1 iirs @R 32
‘Ugadi’ is the famous festival of which of the following
states?

TS Punjab (b) TNl Goa
JTR UG Uttar Pradesh (d) 3¢ TR Andhra Pradesh
Fafafea & @ o9 aemeTa st ug I & aue

&
Who among the following is the author of the epic story
‘Manu Charitra’?

Uil Ponna (b) ST aE T Allasani
Peddana

dIUMYS Banabhatta (d) aw_sc Chand Bardai

Uyis TR A yeRia Rt Ta ST TH Fu gl

‘Bhand Pather’ is a form of theatre dance performedin....

Ml Goa (b) g0 Haryana

fafFHH sikkim (d) PHRAR Kashmir

W WK, B Fiow sfta & a9 F W ST oare, ve

g fAffa sarm 31 Fafafea & @ 59 af 5@
IR Rl Bt G A =i faar war ure

Sur Sarovar, also known as Keetham Lake, is a man - made
reservoir. In which of the following years was it added in
the list of Ramsar Sites?

1998 (b) 1992
2015 (d) 2020
yRd & fra w0 | R & savfa waa ofr &1

wfa=ra wa ftrew &2
Which state of India has the highest percentage of crop land
under irrigation?

TSI Punjab (b) PHTcH Karnataka
TJSIRTd Gujarat (d) ﬂ'&l?ﬂ'l_g'Tamil Nadu

fFafaf@a & & s9-a1 g s9ic 2023-24 F I@
wrafirmare (wwf) &1 e g @:

Which among the following is not the part of Seven
priorities(‘Saptarishi’) of the Union Budget 2023-24:

JATARM fAB Inclusive (b) WW R fAaw

development Infrastructure and
investment

Eﬁ_dw Green Growth  (d) II'%FITQT%Women

Power

SARPY HUH I A TH ey fpar g o

PRI TSR W Hedqul wieaary iR yafavoiia ufad=f

;r TdT I 81 $TH ISR HERTY & fora 9 R
I

Agharkar Research Institute has conducted a study in which

it has revealed significant climate and environmental

(@)
(©

49,

(@)

©

50.

(@)
©

51.

(@)
(©)

52.

(@)
(©)

53.

(@)
(©)

54.

changes on the Kas Plateau. Kaas Plateau is located in the
district, Maharashtra.

HeHGTR Ahmednagar
HdRI Satara

(b) HITYX Nagpur
(d) ﬁf%"fsmdhudurg

0 UNUIE ISP & AR ToaH § giar & wad
Sifea=ITel UTraUid &1 faaTe f5a S & U 82

Which country currently holds the title of the world's most
powerful passport according to the Henley Passport Index?

RITGR Singapore (b) TG T ARSI United
States
SITUT Japan (d) S Germany

YR sftaw a1 fm (L) & way e & =u o
5o fFrgea fParman 82

Who has been appointed as the managing director of Life
Insurance Corporation of India (LIC)?

T.UCT A. Patel (b) . TMAf K. Sharma
TY. IGH S. Rajan (d) 3R. TRISWTH R.
Doraiswamy

[ Reasoning }

i & e ust | foeg (: ;) @t IR ORw g1 =g fqw gU
7, ot i 3oy ® el v Wafta 2 - SRt smuR R
g (- ;) B gl Rw 3 U 3reg @ Wafta fiweai 4 9
Sfa W g -
wrifa : sramifar: M2
In the questions given below, two words are given on the
left side of the symbol (::), which is related in some way -
On the same basis, choose the appropriate word from the
options related to the right side of the symbol (: :) -
Peace: Unrest:: Knowledge:?

(b) qu?wisdom

3T Ignorance
fatd Respectful (d) UHS boasting

Frafafaa Ten gaer 3 uy g (2) & M R | S
?

Complete the series-
7200, 3600, 1200, 300, 60,?

10 (b) 25
15 (d) 20

gfe fdt Tikfas WraT § yupicial Ft Lavicio' forar
STaT ®, At 'GLORIOUS' BT I HTHT F S forar e 2
If 'JUDICIAL' is written as 'LAUJICID' in a code language, how
will 'GLORIOUS' be written in that language?

USGLIOOR (b) SULGROOI

LGSUROOI (d) SULGOIRO

gfe f<dt Aidsfa®d uTaT & 'TEXTILE' B 'RevraiC foran
STaT®, dt NYLON' Tt I yTeT & H feram smem 2

If 'TEXTILE' is written as 'RCVRGIC' in a sign language, how
will 'NYLON' be written in that language?
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0ZMPO (b) LWIML
OZMNO (d) LWIMK
In each of the following questions, five words have been

given out of which four are alike in some manner, while the

fifth one is different. Choose out the odd one.

fFrafafEd yde vy §, i 3 fRT M §, MA@ 9

?mﬁmﬁmﬁ%’,wﬁw‘ﬁﬁm%l fawn «t
|

Asia m (b) Argentina 3Ot
Africa 3TpIHT (d) Australia m
If 1st day January 2007, was Monday ,then what day of the

week lies on 1st January, 2008 ?

gfe Fas) 2007 FT UG &7, HiHaR o, @ 1 SaYY,
2008 F1 B w1 fo1 FAifga &2

Monday FIHAR (b) Tuesday HITAR
Wednesday §YdR (d) Sunday REEIN

Fafafea fir ™ e yEar ¥ yyaes g (7) &
R W P - HET S 2

Which number will come in place of question mark (?) In
the following given number series?

857 344 1723

6896
6976

(b) 7225
(d) 6254

ot fAfira 1S A BRIGHT PY IscsGF ferar siTar @ | 3t
HIS # JOINED 1 H forET SR 2

In a certain code, BRIGHT is written as JSCSGF. How to write
JOINED in the same code?

HNIEFO (b) JPKEFO
JPKMDC (d) TIPS T8l None of
these

S: TSfPal $g Bt 3R Ug HIdb Th JAPR R A IS 7
| e, YUt SR AT B A A 7 | 39+t , AT Ft IRAf SR
2 | IES, IHT IR o A A ® | 7amg fb Ao ot
TR IR BT 2

Six girls are sitting in a circular circle facing the center. Julie
is between Rambha and Rati. Rajni is to the left of Shweta.
Shahnaz is between Rambha and Rajni. Tell who is on Rati's
left?

AT Shweta® (b) IHTRambha

IS Rajni (d) RG-S Shehnaaz

TP e 7 31 $T HW A 16 7 MR A A 15 a7 HH
- wandpafraiome:

In an examination, Archana is ranked 16th from the top and
15th from the bottom. How many students are there in the
class

30 (b) 31

32 (d) I &1 foba o Hebell

Cannot determine

61.

(@)
(©)

62.

(@)
©

63.

(@)
(©

64.

(@) E'QﬁHappiness
(c) @’@sad

65.

(@)
(©)

66.

(@)
(©

67.

In a certain code language, 2357 means 'please bear with
me', 8159 means much burden to bear' and 7654 means
'hunter with the bear'. Find the code for 'with.

% fAf3a g Ut §, 2357 &7 3 B "Huan AR A1y WA
HY', 8159 BT HAT BldT & We B & g rf¥re aig
3R 7654 BT 31 3 T F AT 11 1| F 1Y F @
PIs BT UdT A

7 () 2

3 @ s

If21#11=5,18#4 =7 and 6 # 2 = 2, then find ) the value
of 13#5=?
!TI%ZI#11=5,18#4=73‘ﬁ?6#2=2,?ﬁ'13#5=?3’7|'
A JTd B2

4 (b) 8
18 (d) 65
Select the missing number from the given responses.
fau e fyweul # A qw W g
8 4 12
7 | 8 ¥ |
8 5 13
1 I (b) 1
15 (d) 4

i & e ust | foeg (: ;) @t IR ORw g1 =g fAw gU
7, ot fr oo ® et yorR weifta 7 - St smuR W
g (: ;) B qrff Rw e 3¢ Weg A waifta foweai 4 9
A =g gfie -

I : ﬁ'q'l?{: U2

In the questions given below, two words are given on the
left side of the symbol (::), which is related in some way -
On the same basis, choose the appropriate word from the
options related to the right side of the symbol (: :) -
Cheerfulness: Nostalgia:: Love:?

(b) YUIT Hatred
(d) THD Shine

Frafafaa T e § uy [F (2) &) Suge fase
G Er

Find the value for question marks-

3,3,4.5,9,225,?

27.3 (b) 24

55 (d) 67.5

Tfe foreft Aich e WTAT & RADIO B UDGLR foraT SITaT @
;1 PHOTO &1 I HTWT A HH forar s »

If RADIO is written UDGLR in a sign language, how will
PHOTO be written in that language?

OTOHP (b) SKRWR
olPUP (d) SKPWP

In each of the following questions, arrange the given words
in a meaningful sequence and then choose the most

Mob. - 01141676717,9312712114
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appropriate sequence from amongst the alternatives
provided below each question :

1- Key 2- Door 3- Lock

4- Room 5- Switch on

fFrafafed vas uy ¥, fRw e 3rsgi ot v ards wa o
IR B 3R e vl uy & - oy e fawent

T T SUGT ATHH T
1-%ofl  2-guErenm  3-dTdl
-1 5w e
(@ 1,2,3,54 (b) 1,3,2,4,5
(c) 4,2,1,5,3 (d) 51,2,4,3
68. Choose the Venn diagram which best illustrates the three

@

(©

69.

@
(©

70.

@
(©

71.

@
(©

72.

@
(©

given classes in the question:
Machine, Lathe, Mathematics

A9 ARG g1 it uy A 9 few e ot & qad ST

m %:
XA, @RTe, T
(d) %

OF

O
T afa 150 frardier 5t gt so frdlt/der St ara @
T BT & qAT ga- gt g3t 30 frwlt/der &Y aa ¥
FHIA1 g A IAD ST AT TR ?
If a person covers a distance of 150 km at a speed of 50
km/h and completes the same distance at a speed of 30
km/h, what is his average speed?

35 fpHI/EeT 35 km / h (b) 30 faHl/EeTI30km /h
37.5fbdl/der37.5km/h  (d) 40 fdhHl/deT40km /h

fFrafafae for T e yEar ¥ uyaree e (7) &
M R i -t w@ st

Which number will come in place of question mark (?) In
the following given number series?

6819612497
1051

1251

et widfaw uraT & sTormED @1 PUTQCDL forET STaT
2 331 HIS H cORNERs 1 $4 forar s 2

In a code language, STORMED is written as PUTQCDL. How
will CORNERS be written in that code?

(b) 342
(d) 224

SPDMRQD (o) SPDMDQR
SPDORQP (d) DPSMRQD
TS UfeT & 45 g&1 € | g &1 98 g SR A 20 § A

RE | NP U FTRHATESRIARTR ?

There are 45 trees in a row. The lemon tree is 20th from the
right end. What is the location of the lemon tree from the
left end?

24 (b) 26
25 ) 27

73.

(@)
(©)

74.

(@)
(©

75.

(@)

(©)

76.

(@)
(©

77.

(@)

& it npfa BT eagd e sremae HY i o T ush
HIIWE -

Study the given figure carefully and answer the questions
given below -

T B4 41 3@ g ot @t anrpfa A SufRua 8 2
What is the number that is present in all the figures?

3 (b) 4

6 (d) 379 Y PIE T8I None of

these
In a certain code language,’+'represents’-’,'-'represents
'x','x'represents '+','+'represents '+'.Find out the answer to
the following question.
e [Af¥a oe utwr 8, -3 uelkia Har g - < B
e Riq Ha1 8 x, <P UeRia Hrar ¥, =, +& ugkRfa
FRare - e s sTSR A S ?

196+4-125x50+10=?

-61 (b) 196
93 (d) -65
If A$ B means A is son of B, A # B means A is sister of B and

If A * B means A is father of B, then what doesXSY *Z#W
mean?

e assBTAI BB A BHTTIR, A BTATR A,
BBl agAR iR AT a* e BT af g fb A, s T fUT R, A
X $ Y* z 4w PT T 3 82

Xis father of W X, W &T (b) Xis brother of W X, W &1
foare
W is father of X W, X &1 (d) Xis father's father of W X,
foare w & AT fare
[ Numerical Ability ]
11 1 1
gfe 5 ¢z 125 g q) x=2
11 1 1
5 T oz 125 thenx=?
25 (b) 3.5
15 @) 2
gfe fpeft By &1 T HIur 130° H1 81 @ 39 & HIoN
F ISP P AT PTHI DIV G HPATS :

If one angle of a triangle is 130° , then the angle between
the bisectors of the other two angles can be:

50° (b) 65°

Mob. - 01141676717,9312712114
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(©

78.

@
(©

79.

@
©

80.

@
©

81.

@
(©

82.

@
(©

83.

@
(©

84.

@
(©

o

145 (d) 155°

A frft Rl 31 12 a7 o uTw R AHAT 8, A B g
B, 60 % 3 PG §, SH PR B W HH A B
fpaa g o 2

A can do a certain work in 12 days. B is 60% more efficient
than A. How many days does B alone take to do the same
work ?

6 a7 6 days (b) 7% 7%day
8 f&1 8 days (d) 8wfcH 8yday
T FR BT A 2:3: 4 F U F 31 TUH g 74

P A 39 PRI gRT T 7T 909 & SHT: SuTd 81 :
The speeds of 3 cars are in a ratio 2:3:4. What is the time
ratio for these cars to cover the same distance?

2:3:4 (b) 4:3:2
4:3:6 (d) 6:4:3
TR TS BT 4% AP &3 A 4 T 91 3T 848 F BT

¥ fArue 8 aifffe Yas s ghm 2

What equal installment of annual payment will repay a
debt which is due as Rs.848 at the end of 4 years at 4% per
annum simple interest?

212 (b) 200
250 (d) 225
39 rad &1 yRfAfa et gift forast T Y= 10

QY. quT fawuf 26 A7 81 2

What will be the perimeter of the rectangle whose side is
10 cm. and diagonal is 26 cm. ?

64 Y. 64 cm (b) 72 ¥ 72 em
60 T4, 60 cm (d) 68T 68 cm

36 Ha¥ 991 IR TP Bd fashal Bt 4 a1 & fasha geu
& RIS 1A gIHl 81 TSB! g1 F1 wferra fpa g 2
By selling 36 oranges a vendor suffers a loss equal to the
selling price of 4 oranges. Find his loss percent.

10 % (b) 121%

11% (d) EﬁaaﬁqﬁNone of

these

et T &Y 7 9 U A W UG BT UAD 3B
3 Ted ghar 2 | Ot e St T g 2

On multiplying a number by 7, the product is a number each
of whose digits is 3. The smallest such number is ?

47649 (b) 47719

47619 (d) 48619

8400 %. BIA, B, CR DA SHUPR aleT AT g fFA:B=
2:3,B:C=4:5dYUTC:D=6:7FTHH A BT U fHa-m
g2

Rs. 8400 are divided among A,B,C and D in such a way that
the shares of A: B=2:3,B:C=4:5and C: D=6 :7
respectively.The share of A is-

1280 (b) 1320

2210 (d) 2400

85.

(@)
(©

86.

(@)
(©)

87.

(@)

(©

88.

(@)
(©)

89.

(@)
(©)

90.

(@)
(©)

A ABC & «£B 3R 2C ¥ 3ia® fAHT® 0 W) ufadg
FYa e 1A LA =100° T LBOC HTHIU R :
What is the measure of 2BOC if in a A ABC the internal

bisector of B and £C meet at O & if angle £A = 100 deg
?

140° (b) 130°
120° (d) 110°
Tu R @ gt nfa @ &rd ovar 81 9l @

fraes foddlt o1t &Y 12 &9 & 1 S @ 9ud Srasan
I fhae I0g | [T B GBI 2

Tapas works twice as fast as Mihir. If both of them together
complete a work in 12 days, Tapas alone can complete it in-

15 f& 15 days (b) 18718 days
20 f& 20 days (d) 247324 days

TP i A 9 B 9 x fHHY. ufd g1 Ft oifva ara 4
T AT AT B | A T y fpel. ufy wet 3t s arar
Y oiteT | Ot g # S9! 3 e fhan <At 2

A person went from A to B at an average speed of x km/hr
and returned from B to A at an average speed of y km/hr.
What was his average speed during the total journey ?

(¢ +) 2zy
2zy (z+y)
(b)
.
(LE + y) (d) . y

faft o W 2 af &1 Trgfs TS Rs. 282 .15 § AU
HTYTRUT TSI Rs 270 @ TSI 1 AT oX fha-1 g ?

The compound interest of 2 years on a sum is Rs 282 .15
and the simple interest is Rs.270. What is the annual rate of
interest?

8% (b) 9%
10% (d) 12%

T ¥4 & fawof &Y A1y av3 . § 59 99 &7 3muaH
fraaT g »

If the diagonal of a cube measures 4v3cm. What will be the
volume of this cube?

16 9.2 16 cm.? (b) 27 IHt? 27 cm.?
64 T2 64 cm. (d) 48 T2 48 cm.?

it a¥g &1 900 H SA | YT ATH I I Bl 600 H
gﬁwﬁsﬁmm%lwmmma@mm

The profit earned by selling an article for Rs 900 is double
the loss incurred when the same article is sold for
Rs.600.What would be the Cost price of that article ?

500 (b) 680
700 (d) 3fiPS U Data
insufficient
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91.

@
(©

92.

@

(©

93.

@
©

94.

@

(©

95.

@
(©

96.
@

(©

97.

@

COMPUTER

AutoCorrect was
replace words as you type.

AutoCorrectﬁHﬁﬁﬁqﬁw?ﬁmmﬁ%m
I frarwraT 8 2

Short, repetitive

originally designed to

(b) Grammatically incorrect

Misspelled (d) None of the above
When a range is selected, how can you activate the
previous cell?

S99 UP (Range )3T &1 T+ foa irat €, <t oy fUsa

Rk ok (activate) Ifhg B3 gbd %?

Press the Alt key Alt (b) Press Tab Tab Q&Y
Qd[hY

Press Enter Enter G&ThY

(d) None of above Eﬁﬁﬁé
CIEE]

The server on the Internet is also known as a

e W IR &1 SR fra wu A W ST San @
Hub B9 (b) Host BRE
Gateway 1cd (d) Repeater e

"Ctrl + Right Arrow" is used to

"Ctrl + Right Arrow" DI T g O feas "%I'E e
SATTE ?

Moves the cursor one (b) Moves the cursor end of
word rightWﬁW the line Wﬁ?ﬂ%?%
TG GT5 3R A S & ferg A H A M & forg
Move the cursor end of the (d) Moves the cursor one
document mﬁﬁr% 3fd Paragraph down FE DI
iﬁ;ﬁwﬂﬁm & R ATH F o

In order to tell Excel that we are entering a formula in cell,
was must begin with an operator such as

Excel § THAT Tex H+ & Ugd fbw g &1 IuahT
fraremaT® 2

$ (b) @

- ) #

You can set Page Border in Excel from

From Border tab in Format
Cells dialog box

(b) From Border tool in
Formatting toolbar

From Line Style tool in
Drawing toolbar

(d) You can not set page
border in Excel

To start Microsoft PowerPoint application

Microsoft PowerPoint application 3 = P B ﬁrr{ w
fawea o1 9ga P

Click on Start > Programs >
All Programs > Microsoft
PowerPoint Start IR fadid
B > TR IR oMY >

Microsoft PowerPoint UX

(b) Hit Ctrl + R then type
ppoint.exe and Enter Ctrl +

R faTep B 3R ppoint.exe
feRgehR Enter GETT

(©)

98.

(@)
(©)

99.

(@)
(©

100.

(@)
(©)

ICNECE

Click Start > Run then type
powerpnt then press Enter

WIE W fads a3 > 3R
powerpnt @@ enter
Q4

(d) Al of above JTRIGT Tt

The first network that planted the seeds of Internet was:

g Aead R dexde Ao AT ASA AT PEAR 2

ARPANET (b) NSFnet

Vnet (d) Both (A)and (B) A 3R B
Gl

Which of the following is not available on the Ruler of MS
Word screen?

e & ¥ #19 TITy a8 B & TR IR Iuasy
eI gIel 32
Tab stop box
Right indent

(b) LetIndent
(d) Center Indent

In how many generations a computer can be classified?

TP Hex B fha- fifeat & arffea frar o awar 22
3 (b) 4

5 (d) 6
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